Events/0.05 TeV

(Data-Fit)

Events/0.05 TeV

(Data-Fit)

=
Q

[
o
w

10?

Unc.

10

N

\‘
ondel

o]

I
N O

10°

10?

Unc.

10

I
N

35.9 fb™ (13 TeV)
e

4 Data

— Background shape
—— Systematic uncertainties

|:| Normalization region

T WHHW‘ T T T WH\HH[ T TTIT

HHHA 1 HHMH 1 HHHA 1 HHMH 1 HHMH 1

8
S, [TeV]

35.9 fb? (13 TeV)
T T T

+ Data
— Background shape

T HH\”

—— Systematic uncertainties

|:| Normalization region

T

T

HHHW

T

30 35 40 45 50 55 6.0 65 70 75

S, [TeV]

Events/0.05 TeV

Events/0.05 TeV

(Data-Fit)

Ay
Q
N

=
o
w

10?

35.9 fb™ (13 TeV)

N CMS
N =4

4 Data

11 muﬂ

— Background shape
—— Systematic uncertainties

|:| Normalization region

UL B EARLL AR

1 HHHA 1 HHMH

10 =
1= E
2 F 3
2o WWWMN———L
o £ E|
-2 3
3 4 5 7 8
S, [TeV]
35.9 fb? (13 TeV)

T T T T T T
10°s, CMS E
i N =6 + Data ;
E — Background shape i
102 E — Systematic uncertainties =
E |:| Normalization region ;
10 + E
1= E
:\ | | il | | Il 1
2 E
2o =
o 1
-2 E

30 35 40 45 50 55 60 65 7.0 75
S, [TeV]



